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E On the Move NM

Activity Sheet

Name: Class:
Write the weight of the items in the boxes. Do not forget to write the N for Newtons.
One has been done for you.

©Q scof @) bucket of sand

s @)@

weight = 0.75 N weight = 8.75 N

€) set of keys O jar of jam
afl
- —
' '
N
weight = 0.25 N weight= 6,5 N
(Do the same for these items but be careful, the scales on these forcemeters are different. )
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S 160
Y hY

weight = 165 N




Can |l investigate what happens to water in cups when it is
dropped?

Equipment

2 plastic or foam cups

Water, Children scissors

Instructions

Take the cups and a jug of water outside to complete this investigation.
Half fill one cup with water and drop it to the floor from chest height. Watch what happens.

Make holes in the bottom of the other cup and half fill it with water — watch what happens
to the water.

Then half fill the cup with holes in again and drop the cup from chest height and watch what
happens.

What happened when you dropped a complete cup of water?

The cup dropped quickly to the floor and the water spilled out of it. Gravity caused it to fall.

What happened when you put holes in the cup and filled it with water?

As | held the cup the water poured out of the holes because gravity makes the water want to fall to the ground
if it can.

What happened when you dropped the cup full of water with holes in?

As | dropped the cup | notices that the water did not fall out of the holes until the cup hit the ground.

Why do you think the water did not come out of the holes when you dropped the cup?

| think the water stayed in the cup because gravity is pulling on the cup and the cup and water are falling at the
same speed



P Newton and Gravity Answers

1. When was Isaac Newton born?
Isaac Newton was born in 1643,

2. Why did Newton move from Cambridge to Woolsthorpe Manor?
Newton moved to Woolsthorpe Manor because plague broke out.

3. What fruit did Newton see falling from a tree?
Newton saw an apple falling from a tree,

4, Inwhich direction does gravity pull objects?
Gravity pulls objects down towards the centre of the Earth.

5. Why does the Moon stay in orbit around the Earth?
The Moon stays in orbit around the Earth because gravity pulls it towards the Earth.

6. What are forces measured in?
Forces are measured in newtons (N).

7. What did Albert Einstein think of Isaac Newton?
Albert Einstein thought that Isaac Newton had one of the most brilliant minds of anyone
who had ever lived and that he was a ‘shining spirit’.

8. What can still be seen from Isaac Newton's old bedroom window?
The apple tree that inspired Newton’s ideas about gravity can still be seen from his old

bedroom window.



E Mass Appeal @i EducationCity

Activity Sheet
Name: Class:

\—/

(Compare the mass of the objects.

0 How much heavier is the ruler than the pencil?

13
-l -l g
9 How much heawer is the rubber than the scissors?
—2
D_Tﬂl G 199

e How much heavner is the stapler than the glue stick?
S EEZN,

(o4 \m -- 9
e How much heavier is the glue stick than the ruler?
[" q~" E. ..................

fza- r:zsa- 154

e How much heawer is the pencd than the rubber?

@i]- @- 12
e How much heawer is Sten s ptle of books than Klara’s pile?
'@' Klara’s -- Sten’s 2kg

e How much heavier is Rosa’s pile of books than Sten’s?

@-‘ Sten’s @. Rosa’s 6 kg
e How much heav«er is Sten’s pile of books than Manu's?

'@—. Sten’s @- Manu’s 4 kg

Q How much heavier is Rosa’s pile of books than Klara’s?

%ﬂ- Rosa’s @. Klara’s 8 kg

@ How much heavier is Klara’s pile of books than Sten’s?

e Klnra s % St

en’s 4kg




E Box Carts 'ﬂw

Activity Sheet
Name: Class:

What do you know about friction?
Write a list of facts in the box cart below.

*Friction happens when two surfaces meet
*Friction slows things down

*Friction is a force

*It is measured in Newtons using a forcemeter
*There is more friction on a bumpy surface
*There is less friction on a smooth surface

( Suggested answers )
i
P

Can you make some predictions?
What do you think will happen when the following surfaces meet?

@ Acaronice |The car will travel faster on the
ice because ice is smooth and
slippery. This means there is a
low level of friction.

Grass is bumpy so there will be a
higher level of friction. This will
slow the car down.

€ Two hands being | The hands will warm up because
rubbed together | {riction produces heat.

((

( Suggested answers )

pJ]




Talk about Forces Answers

To identify forces octing on objects.

Read the story together. Highlight or underline examples of forces in the story. Then, in the
second column, briefly explain the forces thot are being applied in each example. The first one

has been done for yow.

The mogician reached inside her mogic box

 lifted R :  bic
into the oir

She pushed her very hegvy magic bax glong
the wooden floor so that it wos by the side
af the stage.

Mext, she juggled with silk handkerchiefs.
After she threw them into the gir, they feil
gently downwords for her to catch.

After, she lifted o rohot penguin out of the
b She beld it bioh in the oir

There was a screen behind the magician and
she puszhed the screen to one side. Behind the
screen wos a paddling pool. The magician
placed the penguin into the water and f

storted to swim g length of the pool

The children laughed and cheered, although
they weren't sure whot wos magicol about
the robot swimming in the pool! The

magician ended her show by popping g big
party pepper, The popper shot leng strips of
! C into the gir. which then fell

The magician's force is lifting it up and
grovity is pulling it down to Earth.

The magician s foree is pushing the magic box
and friction is pushing against the box whare
the Aoor and bhe box make contoct, slessing
dineze fhe meverment.

The magician 's foree is bhrowing theam into the
air. Grovity is pulling the silk seonves dosm and

air pesistancs it pushing Dhew upesards ard
showairtg Lhawm dowe.

The magician s force is Miing it up and gravity
iz palling it dawon e Earth.

The magician s force is puthing the sereen and
friction iz pushing agaimst the screen where

the Aoor and bhe sereen moke confoct, showing
dineze fhe meverment.

The penguin's force iz pushing it forwerds and
water rasistance is pushing against it,

The feree of the party popper shoots the pieces
of paper inte the air ond than gravity pulls
thewn dowen. They go desin slowly because air
resistance pushes wp against them,




MASTERS CHALLENGE 2x2=4 24:6=4 10x9=90
8x7=56 44+ 4=11 8x12=96
3x3=9 3x4=12 8x8=64
5x4=20 4x4=16 54+9=6
1x1=1 5x3=15 40:8=5
48 +6 =8 3x8=24 6x3=18
28 +4=7 60+ 12 =5 6x12=72
3x6=18 36 +3= 12 3x6=18
4x7=28 4x11=44 4x12 =48
4x5=20 3x5=15 9x5=45
9x7=63 9x11=99 9 x 12 =108
42 +7 =6 4x8=32 8x9=72
45 +5=9 12x11=132 12 x 12 =144
5x6=30 9+1=9 10+5=2
3x7=21 10x3=30 6x6=36
2x9=18 9x9=81 90:10=9
36+9=4 8x3=24 10 x 10 = 100
121+11=11 72:9=8 10x3=30
1x7=7 66+6=11 48 +4=12
8x4=32 1x10=10 54+-6=9
99 +9=11 6x5=30 108 + 9=12
5x7=35 5x 11 =55 5x12=60
9x2=18 2x8= 16 8x10=80
7x7=49 7x11=77 7x12=84
11x7=77 11x11=121 11x12=132
6x 10 =60 63+7=9 3x9=27
3x7=21 3x11=33 3x12=36
8x5=40 4x10=40 18+2=9
2x11=22 6x9=>54 10 x 10 = 100
8x7=56 60+5=12 12+1= 12
4x7=28 84:7=12 9x7=63
88 + 8=11 10x 11 =110 72+-6=12




=120

10x12

12

36+3

110

10x11

=10

120+ 12

=70

10x7

3x12=36

Master Master Challenge
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54+6=9

28+7=4

24 -4=6

48+8=6




